Block 2 Review ~ Rates

Name__________________________________________      Period______      Date____________

1.   Which numbers are equivalent to 
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?  Circle all that apply.
A.  2.45

B.  2.8
C.  
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D.  
[image: image3.wmf]5

40


E.  2.4
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2.  Miranda had a piece of ribbon 0.25 feet long and a second piece of ribbon 1.125 feet long.  Written as a fraction, what was Miranda’s total length of ribbon?

A.  
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feet

B.  
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 feet

C.  
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 feet

D.  
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3.  Which answer lists the fractions from least to greatest?
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4.  Which numbers are equal to 
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?  Circle all that apply.
A.  
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B.  0.66

C.  
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D.  0.67

E.

[image: image27.wmf]9

6
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5.  Cameron had 
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 pounds of apples.  About how many pounds of apples did Cameron have rounded to the nearest hundredth?

A.  3 pounds

B.  3.5 pounds

C.  3.46 pounds

D.  3.457 pounds

6.  What is the value of 
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 rounded to the nearest tenth?

A.  0.1

B.  0.11

C.  0.12

D.  0.2

7.  What is the rate 
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 expressed as a unit rate?

A.  180 miles per hour

B.  90 miles in 2 hours

C.  88 miles per hour

D.  45 miles per hour

8.  Paul spent $16.20 for 5 notebooks.  What was the price per notebook?

A.  $2.99

B.  $3.24

C.  $4.05

D.  $5.05

9.  Phan ran 12 miles in 1.5 hours.  What was his rate in miles per hour?

A. 5 miles per hour

B.  6 miles per hour

C.  8 miles per hour

D.  10.5 miles per hour

10.  Complete the equivalent rate:  
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A.  8 miles

B.  37 miles

C.  200 miles

D.  240 miles

Mac burns 8 calories per minute when running.  Assume Mac runs at a constant rate.  For numbers 11a – 11d, determine whether each statement is true or false.
11a.  Mac burns 20 calories
         in 3 minutes.
11b.  Mac burns 80 calories

         in 5 minutes.

11c.  Mac burns 240 calories

         in 30 minutes.

11d.  Mac burns 480 calories

         in 1 hour.
12.  Jeremiah spent $3.96 on 4 lollipops at the store.  How much would he pay for 6 lollipops at the store?

A.  $5.94

B.  $6.24

C.  $6.80

D.  $7.92

13.  Which rate is slower?



[image: image33.wmf]hours

 

5

meters

 

750

 or  
[image: image34.wmf]hours

 

6

meters

 

870


A.  
[image: image35.wmf]hours

 

5

meters

 

750
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C.  A and B are equal

D.  Not enough information to tell

A local farm charges $15 for 5 pounds of strawberries. For 14a – 14d, circle YES or NO to indicate if each price rate matches $15 for 5 pounds.

14a.  $3.00 for 1 pound
14b.  $7.50 for 2.5 pounds

14c.   $30.00 for 7 pounds
14d.  $60.00 for 20 pounds
15.  Nai can buy a package of 20 balloons for $5.00 or a package of 50 balloons for $12.00.  How much cheaper is each balloon in the package of 50 balloons?

A.  $0.01

B.  $0.02

C.  $0.05

D.  $7.00

16.  Harold rode his bike at a rate of 14 miles per hour.  He rode at this rate for 2 hours.  How far did he ride?

A.  7 miles
B.  14 miles
C.  21 miles

D.  28 miles

17.  Which of the choices are conversion rates?  Circle all that apply.
A.  
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18.  Which rate should be used to convert  
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19.  A rabbit hops at a rate of 12 miles per hour.  How fast does the rabbit hop in feet per hour?

A.  0.2 feet per hour

B.  144 feet per hour

C.  720 feet per hour

D.  63,360 feet per hour

20.  Complete the equivalent rate:
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A.  40

B.  400

C.  4,000

D.  40,000
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